Gas Gap Production Rates

Today
The press facilities consist at present in Korea University of 5 layers in 2 jigs. Only 3 are in regular use today as the other 2 require the use of 20 Pb blocks each.  Assuming a gap assembly cycle and bonding requires 3 days.
The gaps to be made for each chamber type are referred to as;

SC = Small cut gap

4 per layer

BC = Big cut gap

2 per layer

Bot = Bottom gap

1 per layer

They are for RE1/2,

 40 SC + 40 BC + 40 Bot =  120 gaps.

Using the 3 layers of press in operation today that gives:
                               

Batches

weeks

       
4 x 3 SC/batch         
3.5


2

2 x 3 BC/batch
7


3.5

1 x 3 Bot/batch
14


7 

Total






12.5 
=
3 months
This is for gaps that are good. That is to say that the contingency is 10%. However we have calculated in 43% contingency. The latter is the most likely scenario as the HPL is stacked in the containers in sets of 104 sheets and so come out in sets. Secondly it would be rather risky to make up the 40 gap sets assuming 100% yield. It is agreed that we will have 40 working gap sets delivered to the assembly sites. To be safe it would be better to ship more than this for reasons of losses due to shipping and rejects once the gaps are mounted, where the real losses appear. This is a recent input from the RB colleagues.
It can be argued that using up all the supply of HPL using one technique is rather risky as there is no possibility to recover. It is also rather difficult to gain experience in producing all the gaps of one dimension before starting on the other sizes. This implies that the unused HPL sheets will be stored in an, as yet, unidentified location / system.

In reality today they should be averaging factor 2 or 3 less ie 40 to 60 gaps/ month 

Expected rates

After conversation on 10 March 04
Assuming 1 day for the gap assembly and epoxy polymerization and 3 layers of press that are presently readily active. Also the processes are in parallel. This IS NOT the case today
4 SC 

2 x 2 BC


= 8 gaps /day

Botttom 3 / day

So SC + BC = 40 gaps    
5 days of press work
= 
40 SC + BC gaps

     15 Bot gaps 

5 days of press work for 3 weeks 
= 45 Bot gaps







40 gap sets / month

However they seem to want to work 2 weeks at a time

SC + BC 40 / week
=
80 gaps / 2 weeks

Bot Gaps 15/ week
= 
30 gaps / 2 weeks


Total

=
110 gaps /month

.
Conclusion

Thick Pet film plus Adhesive

~ 400 microns Hot Melt

The oil film is not dry around the spacers

Insufficient communication between the parties in Korea.

The MFC will be sent to CERN for upgrading

Ian will find and send a 2m 3 flow ,eter to monitor the flow rate during drying.

There are bubbles in the trailing edge of the laminating process. See sample.
